
PUNJABI 

1. HTST BusTH feT fas Hot Ts ? 

( 2 (c) (d) aet 7uf (b) 3 4 

2. 

(d) aet zf (c) 

3. 3ta fenfHa fög FT J: 

b) 
(d) 

(a) 

4. 
(b) Hitor (d) azt 

fogat 

(b (a) Hfoef zairget 

(c) 

6. 
a () guera (c) 

(d) Hua3 F 

(a) 

(c) 
(d) guroaS H 

(6) 3Tst 

8. 6-H63T 
(a) HsOTtado (b) HtsUT Uad6 (¢) f t3 

9 9t-10tF (d) 10-11f 
(a) 11-121F ) 12#-13t 

10. UATt AfsmETT et zcdr ùHOTt faH fHaTT Hm& foR feu atst d ? 

ity b) (C)JHH (d) aredUrT 

11. ) feet, fet 

(d) feost Hfont et (a) ua, fet 
(c) ua fëet 

12. 

(a) OE 33 .(b)MTE HEH 

A ETT



13. 
yfsa uH 

(c) ar6TE 
(6) 766 f#ur 
d) J76 fru Hüte 

14. 
HtHEE Et B3ust fo 

(a) HBT (b) HES 
(c) Hearsts 

15. 
(a) 

(c) (d) 6 

ENGLISH 16. Please don't laugh 
those beggars. a) for (b) against 

at (d) from 
17. The children 

are beating 
(c) has been beaten 

the dog with sticks. 
(b has been beating 
(d) beats 

18. Three Idiots 

(a) 
really a good movie. 

) is are (c) can (d) must 

19. Itry very hard in school 

(a) 
I do not score well. 

despite SO (b) and (d) yet 

20. These shoes look really good 

(a) 
they are not very comfortable. 

rather (c) but (d) even yet 

21. Active: She cooked a stew for her daughter. 
by her for her daughter. 

(b) 
(d) 

Passive A stew 
has cooked 

(a) has been cooked 
had been cooked 

was cooked 

22. Choose the right antonym for "lethargy 

(a) 
(d) pressure frequency (c) wavelength 

energy 

L5, Choose the right antonym for "stingy. 

(a) poor (c) (d) generous crude 
truthful 

44, Choose the right synonyp for 'clandestine. 

(a) 
(c) edible (d) digestive 

sweet 

25. Choose the right synonym blue for 'pristine. 

secret 

(c) watery (d) alcoholic 

(a) 
(b blue 

pure 

uve: Somebody has broken the lock of our house. 

Passive: The lock of our house 

(a) is broken 
(c) 

26. 

(b) was broken 

(c had been broken 

has been broken ETT 
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(Read the following Paragraph and answer the questions (Q. No. 27 to . 

In the 16" century, an age of great marine and terrestrial exploration, Ferdinand Magellan led the 

first expedition to sail around the world. As a voung Portuguese noble, he Servea tnc rorugal, but he became involved in the quagmire of political intrigue at court and lost the kngs 
avour. After he was dismissed from service Bby the king of Portugal, he offered to serve tne luu 
Emperor Charles V of Spain. 
27. What is 16th century known for? 

the great sea and land discoveries 
(c) spice trade (b) Portuguese empire 

(d) astronomy 

28. Who was Ferdinand Magellan? 
(b) the king of Spain (a) the king of Portugal 

a Portuguese navigator 
(d) American astronomer 

29. Who employed Ferdinand Magellan after he lost favour with the king ? 

(b) American President 
d King Charles V of Spain 

(a) King of Portugal 
(c) Indian Sultan 

30. Why did Magellan lose the king's favour? 
(a) 

due to court politics 
due to ill health (b) due to family reasons 

(d) due to his disloyalty 

HINDI 

(a) 5ata (d) at 

32. 37 tHs foy fvT 

(a) (b) (d) 

33. 

(a) b) (c)ETe 

34. 

(a) (b) d) 

35. THTK GT f T 37oe ? 

frT (b)quf HSIT (d) (a) 
ETT 

A 



(a) (b) 3HTHT 

(a) b) (c))HRT (d) 

38. 3HTTR T TEHA ? 

(a) (b) (d) 

39. 

(a) ) ()Hcha (d) 3Hg 

3Ht (c) (d) 

(a) 2484TH (b)HdaTer Eraerc (d) HHTqYa 

a)HTNT (c)R (d) HTAT 

(b) 

44. 

(c) 5 (d) (a) 

45. T 

HT (b) HT (c) 3HTET eT 
(a) 

A 5 ETT 
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MATHSS 

n4) M-2) 

46. What is the third zero of the polynomial 2x3- 4x - x2 + 2 if the two zeros ot tnis arc v2 and -V2. 

(a) 1 
(b) -1 2 (d) 1/2 

FFT YT5HM 2x3 - 4x -x2 + 2 yt i 2 -2 T5, 3i feet 3Ht Td 

(a) 1 (b) -1 (c) 2 (d) 1/2 

47. If one zero of the polynomial (a2 +9)x2 +13x + 6a is reciprocal of the other, what is the value of 'a' ? 

(a) 3 
a 

(b) 6 (c)1 (d) -3 
a Ca 

HaT oMs (a2+9)x2 + 13x + 6a et fea ti t er yJHYT d 3t 'a' ET H aT ? 

(a) 3 (b)-6 (c) 1 -3 
a3134 ti 

The HCF of two numbers is 27 and their LCM is 162. If one of the numbers is 54, what is 
48. 

the other number ? 

(a) 51 

HfpHTgt eT HCF 27 s FJzt eT LCM 162 di Aaa gasi feë fëa HfpHT 54 
3 gHf HT at Tedit ? 

(b) 18 (c)81 (d) None of these 

81 
(a) 51 (b) 

(d) fedat fed aet zit 
18 

81 

215 49. Find the largest number which divides 546 and 764 leaving remainders 6, 8 respectively. 318 
49. 

(a) 96 

HS Af À 546 M 764 qHETT FIat 6 m 8 E3 à zet õFI 
(b) 108 (c) 104 (d) 88 

(a) 96 b108 (c) 104 (d) 88 

2 
50. Solve for x and y the linear equations (o 

111x+15y + 23 = 0 
17x-2y- 20 0 

(a) x-2, y-3 

2R-u 

16-o 

(b) x3, y =-2 (c) x=2, y =3 (d) None of these t 

1lx +15y +23 - 0) 
7x-2y-20 = 0 

X=2, 2, y =-3 

(c)r=2, y =3 

71 + loI = a[C 

(b)x=3, y-2 21J3&l 

6 Ag8 
ETT 
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The following system of equations 51 
4x +6y= 7 

12x + 18y =21 

is inconsistent (a) 
has infinitely many solutions 

have a unique solutiqn 
(d) None of these / o(t A48) icL- alcAt) 

CAfLI4Lce 180 

(b) 

4x +6y 7 

12x +18y =21 
(a) MHaTs 
(c) (d) 

LC20 

2030 2 (Pt*52. In a AABC, 2C = 32B = 2(LA + LB), then angles are 
LA = 10°, LB = 135°, LC = 45° (a) 

(c) LA = 60, LB = 30°, 4C = = 90° 

fea AABC , 2C = 34B = 2(4A + LB) T5, feT dE T5 
(a) LA = 10°, LB = 135, 4C = 45 

() 

(b) LA 20°, LB = 40°, 2C = 120° 

(d) None of these C/ 20 

cuo Aw 
LA = 20°, LB = 40°, 2C = 120° 

d) feust feë aet aot LA = 60°, LB = 30°, 4C = 90° 

53. The line segments joining the mid-points of the sides of a triangle form four triangles, each 
of which is 

(a) congruent to the original triangle similar to the original triangle 
(C) an isosceles triangle (d) an equilateral triangle 

(a) H 3aE t congruent 

(c)e isosceles fsaa 
(b) 
(d) fea equilateral fsaa 

( If 7sin0 +3 cosê0 = 4, then tan @ is equal to 

1 
(a) (6)-1 (c)1 (d) 
HoT 7sin-0+3 cos 0 = 4, feT tan 6 oaT TJ 

(a) 3 (b) -1 (c) 1 

1st 24 t c 19b 
55. an-60°+4sin445°+3sec230°+5cos290°. -is equal to 

Cosec 30°+sec 60°-cot230° 

(a) 9 (b) 3 c) 1 (d) None of these 

tan260°+4sin245°+3sec230°+5cos90Tga 
Cosec 30°+sec 60°-cot230° 

9 (b) 3 
(d) fegst feë aet zut (c) 

ETT 



56. The median and mode of a frequency distribution are 26 and 29 respectively. Inen 
k27.5 

(c) (b) 
(d) 

28.4 24.5 24t 
TOT3 T HSM5 ns As qFT 26 M 29 TI feT A3 T 

None of these 

(a) 
(c) 28.4 

27.5 
(b) 24.5 
(d) feoat fs aet odt 

57. Roots of 5*1 + 52- = 53 + 1 are S+5SY 
(a) 1,2 b)-2,1 
5x*1+52-* = 53 +1 JEH T5 

2,-1 (d) None of these 
2-2 

(a) 1,2 
(b)-2, 1 
(d) 

(c) 2,-1 

58. If the roots of the equation (a - b)x*+ (b- c)x + (c- a) = 0 are equal, then which or the following is true? 
(a) 2b+ c =a 
A (a-b)x2+(b - c)x +(c- a) =0 H-laroe è gZH aTUT J5, feT feTai kE fraHT HOt3? 

(b) b+c- 2a C) b-c=a d) None of these 

(a) 
(c) b-c=a 

2b +ca (b-- 4(a-5)(-4) co (b) b+c = 2a 
(d) fearzt fe aet pt 

59. In a given AP, if p" term isq and q" term is p, then its nterms is 

+C-25C - 4(at-a-bc +as) 4C2bC -4at-Y4 
-4bt-ya 

(d) None of these 
(a) p + q- n (b) p-9+n C)P--n fan fes de AP E, Had ph zaH q s qh zTH p 3, 3 fenet n zoH 
(a)p +q-n 

()P-9- n 
DD 

Pe 
(b) p q+ n 
(d) feust fe aet sut 

1a+(P-1)4 

If the mh term of an A.P. be and nth term bethen its (mn)th term is 
60. 1 1 

(a) mn +1 6) mtn-1 ((c) m+r (d) 14 441) 

m (a) mn+1 (b) m+n-1 (C)m +n d) 1 9-P: lA1) 

61. A toy is in the form of a cone mounted on a hemisphere of. radius 3.5 cm. The total height of the toy is 15.5 cm. Then the total surface area of the toy is 

. 

(a) 212.5 cm2 182.5 cm2 (c) 214.5 cm (d) None of these 

et g gerer 15.5 em Ji fëT f4sd g H3T 7 d S 
(a) 212.5 cm 
(c) 214.5 cm 

(b) 182.5 cm2 

(d)feari fee aet st 
T 12 ?3 

252 So 
A 

8 ETT 
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243,S 

2.4,(2, 6) and (2 +v3, 5) are the vertices of an equilateral triahgle, then area of this 

triangle 1s 

(a) 
3 sq. units 3 sq. units (6) v3 sq.units () 2 sq.units (d) None of these 

(2,4), 2,6) 3 (2 + V3,5) fan at HHETi fsaa I fAT J5, si fen at e 

(a) 3 sq. units 

2 sq.units 

(b) v3 sq.units 

fedst fee aet sof 

fom the bag is thrice that of drawing a red ball from the bag, then the number of blue balls 
A 
bag contains 5 red balls and some blue balls. If the probability of drawing a blue ball 

in the bag is 

15 
(b) 18 c) 12 (d) None of these a 

() 15 

(c) 12 

(b) 18 

(d) feusi fes aet out 

4 The surface area of a sphere is (1447)m2, then its volume is 

(a) (2861)m* (288)m3 (384r)m3 (d) None of these 

(a) (2861)m3 
(c) (3847)m3 

(b) (288)m3 
feust fet aet zut 

2 4 6 2 
2 6. There is an isosceles triangle whose equal sides are 13 cm each and base is 24 cm. Then 

area of the triangle is 

,a)36 cm2 (b) 42 cm2 (c) 54 cm (d) 60 cm 

Ea isosceles fsae à fHHe aTT YTÀ 13 cm M MUTT 24 cm J I 3t feH fãE T 
A2 

36 cm (b) 42 cm (c) 54 cm2 g60 cm2 3 

GENERAL SCIENCE 

.Which of the following phytohormone is not associated with the promotion of growth in 

plants? 
Abscisic acid (b) Gibberellin (c) Auxin (d) Cytokinin 

(b) farrofss 
(d)FrétèaTefss 

One of the following traits cannot be inherited, this one is 

a Color of eyes (b Color of skin Size of body (d) Nature of hair 

, 
a) er da (b) THTer dar (C) HOTO T MaTT (d) T et Hø 

ETT 



68. Ahars, Katts, Bhundhis and Khadins are modes of : 
Grain Storage 

Water harvesting 
(b) Soil Conservation 

(c) 
Ahars, Katts, Bhundhis and Khadins faHe 30ta J5? 
(a) M5H 575 

(d) Cold storage 

(b) fHet et is 
(d) a HETH 

69. The work done in moving a unit charge across two points in an electric circuit is measur 

of 

(a) 
(c) Resistance 

Current 6 Potential difference 
(d) Power 

faHeT HT 
(a) ToC (b) uHiH5 fecdH 

(d) Ed 

The unit of measuring potential difference is: 

(a) 
70. 

Watt (b) Ohm Volt (d) kwh 

,ft 
(d) kwh (a) (b) (c) 

WVC 

luobo 71. How much energy does a 100 W electric bulb transfer in one minute 
(a) 100J (b) (c) 3600 J 6000J bevo 600 J 

fea 100 W ET fFR ET ERa fëa ffe feo st oFT zaHET TTeà 
(b) 600 J (a) 100 J (c) 3600 J (d) 6000J 

72. LPG mainly consists of: 

(a) Butane (b) Ethane (c) Butanone Methane 

(a) fages (b) eTs (c) faer5 d) 

(73 A convex lens of focal length 8 cm forms a real image of the same size as the object. The 

distance between object and its image will be: 
(a) 8 cm (b) 16 cm (c) 24 cm y32 cm 

(a) 8 cm (b) 16 cm (c) 24 cm (d) 32 cm 

74. The defect of the vision in which eye-lens of a person gets progressively cloudy resulting in blurred vision is called: 
Myopia (a) (b) Presbyopia (c) Colorblindness e Cataract 

(a) HTEBUHH (b) Y7atsiv Jdlia3T 

ETT 10 f: 8 A 



nerson cannot see the distant objects clearly. His vision can be corrected by using 75 spectacles containing: 
Concave lens 

(b) Plane lens 
(d) Convex lens 

Contact lens (c) 

(a) (b) 
(d) a6aH (c) az 

Which of the following represent suitable conditions for the liquefaction of gases ? 

(a) Low temperature, low pressure (b) High temperature, low pressure (e Low temperature, high pressure (d) High temperature, high pressure 

(a) 
() uz 3THTT, FU E8H 

(d) 

1 Tincture of lodine has an antiseptic property. This solution is made by dissolving: lodine in potassium iodide 
lodine in water 

(b) lodine in acetone 

(d) lodine in alcohol 

(a) ueApMH METE3TEts feT fessts (b) Ats fes rfegsts 
() uet fe fefst7 (d) 

78. Which of the following are physical changes 
) Melting of iron metal 
ii) Bending of an iron rod. 
a)(), (ii) and (ii) 

(i), (ii) and (iv) 
To fesfemt fe fausmt sfsot saett Js? 

(ii) Rusting of iron metal 
(iv) Drawing a wire of iron metal 

(h (i), (ii) and (iv) 
(ii), (ii) and (iv) 

G) 

(a) i), (i) and (in) (c) i), (ii) and (iv) 
(b) i). Gi) and (iv) 
(d) i), (ii) and (iv) 

If 32g of sulphur has x atoms, then the no. of atoms in 32g of oxygen will be: 

ax/2 
32g aiua ex RciF J5, 3 32g HI6 TFT MA Et farzst deait 

(a) x/2 

2x (c) (d) 4x 

(b) 2x (c)x (d) 4x 
C 

80, 
0r an element, Z = 9, the valency of this element will be: F 

4 
ea a3, 
a) 4 

(b) 2 c) 1 (d) 3 

1 (b) 2 (d) 3 
A 

11 ETT 
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81. Match column I with column II and select the correct option 
Column I 

Column II 

i) Nitrogen gas (1) Allotropic form of carbon 
Finds use as electric wires Platinum (2) 
Used in synthesis of ammonia as catalyst 
Highest percentage of atmospheric gases 

(1) 

ii) 
(ii) Copper 

(iv) Fullerene 

(2) 
(ii) (ii) 

(3) (4) 
(iv) () 

2(3 312y 40) 
(a) 
(iv) ii) (i). ) 
(c) (iv) (i) (ii) i) 
(d) (ii) (iv) i) 

(1) aTa5 r MEETfua gu 

(2) 
3) 
(4) 

(1) (2) (3) (4) 

) 
(i) YtaH 

(iii) 3taT 

Civ) 5 

(a) (1i)(111) (iv) i) 
(iv) (iii) (i) (b) 

(c) (iv) ) (i) (ii) 
(d) ) Gii) iv) i) 

82. Match column I with column !I and select the correct option : 
Column II Column II 

(Ore) 
(1) Copper Glance 
(2) Calamine 

(3) Rock Salt 
Epsom Salt 

(Nature of ore) 
) Sulphate ore 

(1i) Halide Ore 
ii) Sulphide ore 

iv) Carbonate ore (4) 
(1) (2) (3) (4) 

(ii) (iv) ) 
(b) 
(c) 
(d) 

(i) 
(iii) ) 

ii) (iv) (i) () 
ii) 

(iv) ii) 

(iv) i) i) 

THII 

(T3 et yfoss) 
(i) 
(ii) dwes us 

(3) 
(1) 
(2) aHEts 

J H (3) 
mYHH HT (iv) araa67 U3 

(4) 
(4) 

(2) (1) 
(i) 

3 
ii) (iv) 
ii) () 

) 
(i) 

(a) 
(iv) (i1) 
i) 

(b) 
(iii) (iv) (i) (c) 
(iv) G) (d) (ii) 

ETT 12 
A 



In the soap micelles, 
83. The ionic end of soap is on the surface of the cluster while carbon chain 1s in the 

(a) 
interior of the cluster. 
The ionic end of soap is in the interior of the cluster and carbon chain is out of the 

cluster. 
(c)Both ionic end and carbon chain are in the interior of the cluster 
(d) Both ionic end and carbon chain are on the exterior of the cluster. (d) 
HTaE micelles fea, 

(a) 
ea geta 

(b) 

(c) 
(d) 

M 
84. Ethanol reacts with sodium and forms two products. These are: 

(a) Sodium Ethanoate and Hydrogen 
Sodium Ethanoate and Oxygen 

n-C- C-6-+N4 

(b) 
Sodium Ethoxide and Hydrogen 

(d) Sodium Ethoxide and Oxygen 

(a) 
(b) 
(c) 
(d) HSMH EtEHaHÉs M` MaAns5 

85. The IUPAC name of the first member of homologous series of ketones is: 

Ethanone (b) Butanone (c) Propanone (d) Methanone 

(a) Tas5 (b) fage (c) (d) Aarss 

SOCIAL SCIENCE 

00 Which country India shares the longest boundary with ? 

Bangladesh (b) China (c) Pakistan (d) Nepal 

87 Which one of the following is not metallic? 
(a) rEH (b) Bts (c)urfoHST5 (d) 

(a) Copper (c) Lead Thorium (b) Aluminum 

(a) (b) gsH (d) sA. 
A 13 ETT 



88. What is the rank of Indian population in the 
Fourth (d) (a) First Second Third 

(d) ET (a) yfoes (b) (c) 3HT 

89. Which is not part of the Tertiary Sector in the Indian economy ? 

(d) Transport (a) Insurance Banking (c) Mining 

(d) HTEHETt (a) (b) (c)HEtfa 

90. Which of the following is associated with Pink Revolution? 
(c) Fish production (d) Meat (a) Jute Onion 

(b) fm (c) HE 35 (d) 
91. Identify Maharatna among the following 

(a) SAIL 6) HAL (c) NALCO (d) MTNL 

(a) H (b) ods (c) (d) mtRs 
92. Where is the steel plant TISCO situated at ? 

(a) Rourkela Bhilai (c) Durgapur (d) Jamshedpur 
Hets ute fena fae Rfes à ? 

(c) oaTTI (b) fet 
93. Who composed the Adi Granth ? 

(a) 
(d) -HHEYT 

( Guru Nanak Dev 
Guru Arjun Dev 

Guru Guru Ramdas 
(9 Guru Tegh Bahadur 

(a) 
(6) HeA 

(c) 

94. When was Guru Tegh Bahadur martyred? (a) AD 1621 
) AD 1675 (c) AD 1680 

(d) AD 1699 
(a) AD 1621 

b) AD 1675 (c) AD 1680 
(d) AD 1699 ETT 

14 



95. Where did Guru Gobind Singh meet Banda Bahadur? 

Nander (b) Anandpur 

(c) Sirhind (d) Talwandi Sabo 

(a) (b) He (c) HofdJe (d) 3st T 

Who among the following was associated with the Ghadar Party ? 

(b) Karnail Singh Issu 
96. 

Bhagat Singh 
(c) Madan Lal Dhingra (d) Kartar Singh Sarabha 

(a) 0I3 fH 

(c) HET 5 Earar (d) 

97. Which Article is associated with equality before law in the Indian Constitution ? 

(b) Article 16 
97. 

Article 14 (c) Article 17 (d) Article 18 

(d) oEiam 18 
(a) a
tas 14 (b) HTTdas 16 (c) mactas 17 

98. Who was the Chairman of the Drafting Committee of the Indian Constitution ? 

(a) M.N. Roy (b) RajindraPrasad B.R. Ambedkar (d) Jagjiwan Ram 

(b) afmeT YHTE 

(d) 
(a) 4s. Jr2 

Halrites TH (c) T.a. Maeas 

99. Who appoints Governor of a state ? 

(b) President K) Prime Minister 

Chief Minister (d) Chicf Justice of India 
(c) 

(6) JHeTYS 
(a) 

(d) (c) H H3dt 

100. What is the level of Panchayat Samiti in India ? 

(c) District Block (d) City (a) Village 

(a) fus (b) fh (d) Hfoa 

ETT 15 
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